

## **Advertise Tender**

ISSUED TO,

 M/s\_\_\_\_\_
 PR NO
 384673

 \_\_\_\_\_
 RFQ NO
 53990

Name of Work :- ANNUAL RATE CONTRACT FOR THE WORK OF ERECTION & LAYING OF L.T A.B CABLE UNDER VARIOUS SDN , DIVISION OFFICE PATAN UGVCL (As & When Require) (E-Tender)

**Tender Notice No :-** 047/2019

Estimate cost	Rs. 998025.00
Earnest Money Deposit	Rs. 11800.00 Receipt No
Security Deposit	Rs. 5% of Order Value
Online Preliminary, Technical & Price bid i.e. On line(e-tendering) tender/offer submission last date (This is mandatory)	Date: 01.07.2019 Up to 18.00 Hrs
Relevant documents (By Registered Post A.D. or Speed Post only) submission date	On or before date 03.07.2019 Up to 18.00 Hrs
Date of opening of Tender fee, EMD cover and Technical Bid physical as well as online	Date: 04.07.2019 up to 12.00 Hrs
Date of On line Opening of Price Bid (Tentative, if possible)	Date: 08.07.2019 up to 12.00 Hrs
Tender Fee	Rs. 1180.00 (1000+18% GST) Receipt No
Time Limit.	2 Year

Earnest money deposit will be accepted in cash or by demand draft on any schedule bank at PATAN in favour of UTTAR GUJARAT VIJ COMPANY LIMITED, cheques or Bank guarantee will not be accepted.

Tender received through RPAD will be accepted.



SUPDT.ACCTT. UGVCL, DO,PATAN

EXECUTIVE ENGINEER UGVCL, DO, PATAN



## SCHEDULE: B

Memorandum showing items of laying of LT ABC with rates quantity & amount.

Sr. No.	Description of Work	Estimate Qty	Unit	RATE/UOM	Total (In Rs)
1	2	3	4	5	6
	Laying of L.T arial bunch cable Taking delivery from DISCOM/Power Deptt. stores, loading, transportation, enroute stacking, unloading at site and erection, testing & commissioning of new areal bunched LT cable by erection of dead end clamp, suspension clamps, Eye Hook, piercing clamp etc. as required as per technical specification, approved drawings and scope of work				
1	Laying of 1-phase L.T arial bunch cable including fitting of all accessories	40	NO	4400	176000
2	Laying of 3-phase L.T arial bunch cable including fitting of all accessories	10	NO	11000	110000
3	Supply of Insulated Suspension Clamp	300	NO	170	51000
4	Supply of Eye Hook	300	NO	90	27000
5	Supply of Dead End Clamp	100	NO	140	14000
6	Supply of Piercing Clamp	300	NO	115	34500
7	Supply of Side Clamp	300	NO	100	30000
8	Supply of Three Hole Patti	300	NO	50	15000
9	ERECTION OF PSC POLES OF 10 Mtr X 270 KG INCLUDING EXCAVATION OF PIT AND REFILLING OF EARTH, FIXING OF CROSS ARMS, TOP FITTING CLAMPS ANTI-CLIMBING DEVICES, INSULATORS ETC, COMPLETE AND PAINTING OF FABRICATED MATERIALS USED ON THE POLES AND NUMBERING WITH COST OF PAINTS AS PER STANDARD SPECIFICATION BUT EXCLUDING ERECTION OF GUY SET AND EARTING.	5	NO	1815	9075
10	ERECTION OF PSC POLES OF 8 Mtr X 200 KG INCLUDING EXCAVATION OF PIT AND REFILLING OF EARTH, FIXING OF CROSS ARMS, TOP FITTING	465	NO	675	313875



	l		r			
	CLAMPS ANTI-CLIMBING DEVICES, INSULATORS ETC, COMPLETE AND PAINTING OF FABRICATED MATERIALS USED ON THE POLES AND NUMBERING WITH COST OF PAINTS AS PER STANDARD SPECIFICATION BUT EXCLUDING ERECTION OF GUY SET AND EARTING.					
11	ERECTION OF STEEL POLES OF <b>9 TO 11</b> METERS INCLUDING EXCAVATION OF PIT AND REFILLING OF EARTH, FIXING OF CROSS ARMS, TOP FITTING CLAMPS ANTI-CLIMBING DEVICES, DANGERS BOARD, INSULATORS ETC. COMPLETE AND PAINTING OF STEEL POLE, FABRICATED MATERIALS USED ON THE POLE AND NUMBERING WITH COST OF PAINT AS PER STANDARD SPECIFICATION BUT EXCLUDING ERECTION OF GUY SET AND EARTHING	5	No	1120	5600	
12	ERECTION OF STEEL POLE OF 13 METERS FOR RAILWAY CROSSING ON BG/MG/NG LINE FOR 0.400/11/22KV OVER HEAD LINES I.E. INCLUDING EXCAVATION OF PIT & REFILLING OF EARTH, FIXING CROSS ARMS, TOP FITTING CLAMPS, ANTI-CLIMBING DEVICES DANGERS BOARD, INSULATIORS ETC. COMPLETE AND PAINTING OF STEEL POLES, FABRICATED MATERIALS USED ON THE POLES AND NUMBERING WITH COST OF PAINT AS PER STANDARD SPECIFICATION BUT EXCLUDING ERECTION OF GUY SETS AND EARTHING.	5	No	1315	6575	
13	ERECTION OF GUY SET INCLUDING EXCAVATION OF PITS & REFILING OF EARTH AS PER STANDARD SPECIFICATION WITH STAY CLAMPS, STAY WIRE ANCHOR ROD, TURN BUCKLE, EYEBOT, GUY INSULATORS, CEMENT CONCRETE BLOCK ETC, BUT EXCLUDING CONCRETING.	300	No	315	94500	
14	CONCRETING OF POLES, GUYS, ETC. INCLUDING COST OF CEMENT SAND METAL (1:2:4) AND WATER ETC. AS PER STANDARD SPECIFICATION	1	СМ	5900	5900	
15	ERECTION OF COIL/ PLATE TYPE EARTHING INCLUDING COST OF COAL SALT ETC. BUT WITHOUT COST OF GI WIRE AS PER STANDARD SPECIFICATION	300	No	350	105000	
				Total Rs. [A]	998025	
Bidder's Offer (+/-) in % [B]						
Grand Total [C = A +/- (A*B)]						
	Goods & Service Tax [D = C X GST %] (GST Rate: %)					
	SAC Code:					



	Grand Total Including GST [E = C+D ]	
Final Offer (In Rs)		
Final Offer (Rs. In Words)		

The Bidder shall quote FIRM Prices only. The prices quoted will not be subject to any escalation till completion of work.

The above prices are inclusive of all taxes, levies Duties etc. except Goods & Service Tax (GST). GST will be paid extra as applicable from time to time on a given taxable goods and/or services.

Contractor's signature with seal.

Executive Engineer UGVCL, DO, PATAN



## **GENERAL INSTRUCTION TO TENDERERS**

- 1. Sealed Tenders are invited from the contractors/firms who have executed works of similar nature and magnitude successfully.
- Date of Demand Draft should not be older than 15 Days from the last date of receiving of tender. If
   D.D is older & its due date is over or bank not accept the same due to any reason at the time of opening of Technical Bid, authority may reject your tender.
- 3. Tender documents are in two bids system i.e. "Technical Bid" and "Price Bid".
- Technical bid is to be submitted in a separate sealed envelope and subscribing the envelope as"
   Technical Bid" & also subscribing the name of the work and tender opening date etc.

Technical bid should be submitted with documents as under, failing which tender is liable for rejection.

- i. Solvency certificate issued from any Nationalized Bank amounting to sum equivalent of estimated cost
- ii. PAN Card
- iii. EPF Registration And EPF Paid Challan copy
- iv. Insurance copy
- v. Work Experience certificate for similar Type work or Erection work of HT/LT & TC issued by authorized officer of Distribution Company under GUVNL. Experience certificate should be of Rs.5 Lacs amount minimum & mentioned with work order number & date and work completion date etc. If require this office may ask to submit work order copy & its work completion certificate also.
- vi. Electrical contractor license if applicable
- vii. Labour license if applicable
- viii. Vendor Registration Certificate in **appropriate class** as a contractor Under GUVNL Or its subsidiary company
- ix. GST Registration if applicable
- x. D.D of Tender Fees & EMD
   (Bidders Who Deposit Tender Fees & EMD at UGVCL cash counter Should mention receipt no & date in tender copy )

The above documents should be submitted in form of attested true copies along with technical bid.

5. Bidder must submit Technical Bid at division office Patan UGVCL with all necessary documents in a separate sealed envelope and subscribing the envelope as" Technical Bid" & also subscribing the name of the work and tender opening date etc. Technical Bid shall open manual at Division Office

## UG CL Uttar Gujarat Vij Company Ltd.

Patan UGVCL. Envelope without subscribing "Technical Bid" & Other Detail will not be accepted & Tender will be rejected.

- 6. The Bidder must submit their price bid online on N-Procure web site only. "Price bid" of only qualifying bidders on the basis of Technical bid shall only be opened online at Division Office Patan UGVCL. Price of bidders, who are not qualified technically as per requirement of technical bid shall not be opened.
- 7. Failing submission of any of one bid cause for rejection of tender.
- 8. Envelope without subscribing Name of Bid, Tender etc will not be accepted & Tender will be rejected.
- 9. The bidders shall submit their offer without any deviations in general terms and conditions of the contract or in Technical specification/items. Tenders of such deviations may also be rejected. Incomplete and conditional tenders shall not be considered.
- 10. The rates shall be quoted both in words and figures as per unit specified in schedule-'B' in case of any discrepancy between the rates quoted in words & figures, rate quoted in words will prevail.
- 11. Intending bidders should submit their tenders after studying all tenders documents carefully and visiting the site for satisfying themselves of actual site conditions, location and accessibility of site and nature, extent of the work involved etc. Submission of tenders implies that bidders have obtained all necessary information and other data required for executing the work.
- 12. "Price bid" of only qualifying bidders on the basis of Technical bid shall only be opened. Price of bidders, who are not qualified technically as per requirement of technical bid shall not be opened.
- 13. Bidder should work in presence's of supervisor.
- 14. Bidder should observe all the safety rules during work. Contractor is responsible for any type of Accident/Damage
- 15. Work may be allotted by EIC as & when it is require.
- 16. Penalty clause: in case, the work is not completed within the period stipulated in the sub work order, penalty shall be levied at 0.5 per week on the total sub work order subject to maximum 10 % of respective sub work order.
- 17. After completion of work, inspection may be carry out by Division/SDn office and any of the supplied items or work found of inferior quality, shall be liable for rejection of the entire work.
- 18. All the works shall be carried out as per company standard specifications & work quantity may be increase or decrease during actual work within order amount.
- 19. Tenders, which do not fulfill all or any of the conditions of the tender of incomplete in any respect, are liable to rejection.



20. UTTAR GUJARAT VIJ COMPANY LTD, reserves the right to reject any or all tenders without assigning any reason thereof.

Contractor's signature with seal.

**Executive Engineer** 

Patan